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Not all deserts are hot and sandy. The Arctic is a desert too because nothing can grow there. All the water is frozen. Arctic people and animals sometimes have to survive very difficult conditions.

Animals can be more useful than machines in this place. Machines such as the snowmobile needs fuel and is expensive to run. Travelling by sled is the traditional way to get around in snowy conditions. Instead of wheels, sleds have runners that glide smoothly across the ice and snow. The Inuit of Northern Canada use huskies to pull their sleds. In Scandinavia and Siberia, some people use tame reindeer.

Reindeer are naturally suited to the job – they have a thick undercoat of fur and a wiry topcoat. Air is trapped between the two layers and keeps the animals warm.

Another advantage of using reindeer is by the time a reindeer is to old to work, it has usually produced several calves which can take over its duty. Old machines, however, may break down and become useless.

Question:

1) What is a desert as given in the passage?

2) What is the weather like in the Arctic?

3) Why is it expensive to operate machines in the Arctic?

4) Why are sleds fitted with runners?

5) What are the advantages of using reindeer to pull sleds?

